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<gftE> (BAfr:FH)
X 7 ER19FE
e SCIEHESE (A) 831,467
IEHEVESE (B) 2,985,923
37 AL LEEHEIERE (C) 126,967
SHEHENEEZED) 674,730
BiH(E)=(A)+(B)+(C)+(D) 4,619,088
%S (F) 10,391,261
b3 (E) ~ (F) x 100 44.75%
CE)BEMARBEVVETTHLD T, SRSV T—ELEE A,
<RILEFHE> (Bfr:FH)
X 7 ER19FE
e SCIEHESE (A) 248,773
IEHEVESE (B) 641,608
37 AL LIEHEIERE (C) 126,321
SHEHENEEZED) 245,662
BiH(E)=(A)+(B)+(C)+(D) 1,262,364
REIMEHEES (F) 8,013,379
e (E) ~ (F) x 100 15.75%
CE)BEMARBEVVETTHLD T, SRSV T—ELEEA,
<KI{EH¥E> (BAfr:FH)
X 7 ER19FE
W SCIEHESE (A) 2,091,508
IEHEVESE (B) 1,493,455
3’7)5] Ll EER{EVEZE (C) 0
SHEHENEEE D) 0
BiH(E)=(A)+(B)+(C)+(D) 3,584,963
KIEWEERS (F) 3,584,963
b3 (E) ~ (F) x 100 100.00%
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